8 EMhiEkFE
(1) FEEK OELBE

Wik 2 THEEICBIT 2 EMERFEOFERTI1I 4FE26 X (T 1FHEE2MX, &
2HFETHIX, BT 1 FE I, R 1 FE2HX, FRET 1 FEIHX, KIGT 1 HH£1H
X, FLARET 2 53 2 HIX, EBRET 1 F3E 1 HUX, JURHT 1 F3E 1 #iX, Rk 1 53 1 X, T
1HFE1HX, )T 1 FE2HMX) T, AIFEEICESNTFEITHMREML NS, ZhzliXoHE
¥EpTHD E, EHIXKEEEEECE S ERFEN 1 SHIKX, TOMoOERFEN 1 SHXK ER-T
W5,

T KA IR S ERFEDO TR 2 TEEROEKREMEIZO 5 9 T i T, FHHEiAE
1, 168Fmd82. 0%LAD, ZOMOEMFEDTEHREMILL, 01 3 FmT, FHHEREHE
1, 561 Tmd64. 9%L>TWN5%,

Z OO ERCFEHE DO ERM ORI R G, FERERE L, 013 Tmdd b, A HEN40 7T
m (GERREFED 4 0. 2%), REEHMEAES 71 Fm (A36. 6%), FHEHMmAE2 35 Fm (A
23. 2%) Lo TW5D,

F1E EHSHMNLOHRE
(AL : HIX, Fm?, %)

CO 3 F ATAE FE FR

23 24 25 26 27 b-a (c/a)

H H a b c| x100
H X 2K 2 10 13 14 13 A1 A1
+ Hh X e m oA A 286 746 1,146 1,134 1,168 35 3.1

PR
HSYERR | FERK HfE B 286 290 421 445 959 513 115.2
SE R = (B/A)X 100 100.0 38.9 36.7 39.2 82.0 428 —
H X 5K 9 8 11 11 13 2 18
Zofhe>  |Fe H FE A 819 819 1,455 1,455 1,561 106 73
TR SERK IR B 614 614 597 597 1,013 416 69.7
FE R (B/A)X100 75.0 75.0 410 410 64.9 239 —
2R L OMOERCEZE DGR ML R O HERE

(AL . Fm?, %)

FOE F FITAF B i

23 24 25 26 27 b-a (c/a)

HOH a b c| X100
56 4 i & 614 614 597 597 1,013 416 69.7
7t A % 297 300 292 360 407 47 13.1
2 bk g Al M 260 257 255 187 371 184 98.5
o A M 57 57 50 50 235 185 366.9
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(2) RRERPL

THIE R 2 OIS I I BT HHINSEIE 1 4 4189 4 H AT, BMEEICHNT7 94 0H 5
M (121. 2%) #MLTBY, REMHIZ60EHFHT, AEEICE18HAM (22. 9%)
BWHOLTWD, ZOREINEEFTIE1 4 4(E3 3EHEIHORFELRY | BIEEICHBFENT7 9F
58HTHM (122. 9%) #EiMLTW5,

Flo. BARIPSIZBIT DT 6 23 2 BT, AIFEEICHE5E9 9E M (10. 6%)
ML TR, HIE1 642475 TMT, AIFEEICHE~65{E70EHM (66. 7%) #mL
TWD, ZOFER NEESITIE1 0 189 2 HTHORTLERY  BIFEEICHNRTNS5 97 1H
I (141, 4%) #MLTWD,

ISR & BAMIN S 2SO EHFAG T4 284 1 B H/HORFET, ZHICHIEENDL D
MBI RS 2 U 72928 ICE 5 O 8 O B DB F L7220 | RIFEICHEFN 3 86 6 H
B (318, 3%) HMLTW5D,

B, AR ERIT3 4 9. 3% T, BMEEIZH~5 2. 9RA U M EF LTS,

— 153 —



3R THERFEONSHRILOHER

(A2 - ML %, N)

FOE of AR S P

23 24 25 26 27 b-a (c/a)

HoOH a b c| X100
w I i A 1,118 2,006 1,427 6,553 14,494 7,940 1212
W e % I 2 1,106 2,005 1,410 6,542 14,428 7,887 1206
JBF & I A 1,098 1,997 1,402 6,539 14,426 7,887 120.6
A = 5t T H UL 2 0 0 0 0 0 0 —
INRZIEE D 1t 8 8 8 3 2 A1 A 199
] I = S S 1 12 0 17 11 65 54 4704
PRCYIIESN YN 11 0 17 11 65 54 4698
I a # M B 53 40 46 78 60 A 18 A229
X|E X # M 12 5 8 28 11 A1l AG616
*| pPH#E K5 #H 0 0 0 0 5 5 Eoie
mleE = 4 &% M 41 35 37 51 50 Al A 17
2> b X A B 41 35 35 44 44 A0 A 03
I X % 5l (A-B) C 1,065 1,965 1,381 6,475 14,433 7,958 1229
g K B I A D 923 2,752 6,411 5,632 6,232 599 10.6
| | M 77 & 917 106 2,942 3,906 3,727 A 178 A 46
fi = & # A & 6 2,646 3,469 1,721 2,504 783 455
Al O|T F A H & 0 0 0 0 0 0 —
A BB & 0 0 0 0 0 0 —
7] N ) th 0 0 0 6 0 A6 B
g K B X M OE 1,789 2,838 8,518 9,854 16,424 6,570 66.7
I jz@ S = ¢ 67 245 7,574 7,206 10,992 3,786 525
7 EEE® e 1,158 213 180 2,133 4,089 1,957 91.7
X & e D th 564 2,380 764 515 1,342 827 160.5
I % % 51 (b-E) F A 866 A 36| A2107| A 4222 A10192] A 5971 1414
3 /& 5l (CHF) G 198 1,880 A 726 2,253 4,241 1,988 88.2
i ST & H 0 0 0 0 0 0 —
AR D oM & 1 420 620 2,499 1,133 2,481 1,348 119.0
A AE E B LR & ) 0 0 0 0 0 0 —
B X I X (GH+H) K 618 2,499 1,773 3,386 6,722 3,336 98.5
BRI _ESHIR L 36 1,841 1,072 2,172 1642 A 530 A 244
08 I X (KL 582 658 701 1,215 5,080 3,866 318.3
5 |5 F 582 658 701 1,215 5,080 3,866 318.3
P e 0 0 0 0 0 0 —
ik = iy 0 0 0 0 0 0 —
IV #& B9 UL 3 b # A/(Bte) 92.3 7929 631.4 296.4 349.3 52.9 —
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